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1205
2405
3605
4805

8o

48e-5
3.6e-5
240-5
1.26-5

~12e-5
~240-5
-3.6e-5
-48e-5

8o

Height [km]

Height [km]

NS02 (-0.5 K/km)

-80

—60 —40 -20
Latitude [deg]

NS05 (-2.0 K/km)

EEEXNNNNNNNNY
I ERRNNRNNY
Ansaaaangy

R
Latitude [deg]

4.8e-5
3.6e-5
240-5
1.26-5

-1.20-5
~2.40-5
~3.60-5
~4.80-5

4805
360-5
2405
1205
)
-1.20-5
~240-5
3665
S [l -+8e-5
50

8[o.15

0360000000000 (p'd,pw'd)00000. 000000000, 0O
goggoobob. bbbbouoood. ggoobboboobbobodogooag.

gogbob 10400b0o.

thesis.tex

2023/03/23(00 0O)
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3.25 0O0OO0OO0OO0OO

ooooood v )
2
qj:w/@dp (3.2)
g 0

000000.000,¢00000,4000,¢000000,000000,7p
000,0000000000.00000000,0000000000000
000.00000000000,000000,0000000000000,0
000,000 (0000)0o0o0o.

gb1bogobgooboobobooboobbooo 3vyoobobo. booobo
goooooououou, gggoooououooooooobobbb. oooooo
oo0,00000b00oo0ooooooooobo. STbooboog,ooooon
55-57km 000000 (=50°00)0 10000000000O. NSO01, NS02 O
0,STbo00000000,000000000000,000,000 (=70°0
0)000000000000000.0000000000 NSO3ODOOOOO
OO00.00,NS04, NSos DD OoOoooOoooooooooogoboboonoooo
gb.0bdbobobooboobobuobono,46-50km 000 0b0onoon
gbbodgboobbdodobobboa,buooboooboobb.o0obooo,
NS4 OO 100,NSObUOD0 200000000, 0000000000000
gogbbooboodad.

NSO4, NSO OO O0OD0O0OD 65 km O00OODODO,00000000D00O0O00
ooooooooooooboo. oboboog, SThbo, NSo1 O 75 km OO0,
NS02, NSO3 O 70km O0O0D0D0OO0OOOO0ODOOODODOOOODODOOODOOO. O
gbbodbooobuogobboobooo,goboooboobbuoobbo
gooboo,oooobod.

thesis. tex 2023/03/23(00 O)
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STDO (0.1 K/km) NSO1 (=0.1 K/km) NS02 (-0.5 K/km)

Height [km]
88328183
Height [km]
Height [km]

—30 o 30 ) o 0
Latitude [deg] Latitude [deg)

CONTOUR INTERVAL = 1.000E+02 CONTOUR INTERVAL = 1.000E+02 CONTOUR INTERVAL = 1.000E+02

30 o 30
Lotitude [deg]

NS03 (—1.0 K/km) NS04 (—1.5 K/km) NS05 (—2.0 K/km)

Height [km]
3 2 &8 8 83832883
8
Height [km]
| S
Height [km]

30 D
Latitude [deg]

60 60

-30 o 30 -30 o 30
Latitude [deg] Latitude [deg]

CONTOUR INTERVAL = 1.000E+02 CONTOUR INTERVAL = 1.000E+02 CONTOUR INTERVAL = 1.000E+02

037 00000000000000000O0O0O0OO. OOOOOO 100 kg/s.
gobooo 104000,

3.3 Uoogon

3.3.1 UO0OO0OO0OOO0OOOODODOOO

gbbogoobboooobbuooobbo,bbooobbuooobboo
oooooooooooO0. 00, -15K/km 0000000000000, 0.1
K/kmOOOOOOOODODOOOOOOODODOOOOOOOO.000,0000
ooobo0 10okmO00000O0DOO0O0O,0D000D0000DO0O0ODOOODDOO
oooooobOoobooobooobboOoobooooo. ooooo, AFES-Venus
0000,000000000000000000 (0.1K/km)OOOOOOOO
0-15K/km 0000000000000, 000000000000Q00COO
goboobgoboobboboobooobog.

3.3.2 UOOOO

32200000000, 0000000000000000000,0000
gbogoboobobo.bbobooboboobo,ooboboobobon
gb. 0o 1oo0g,oogboooobbuogbobooobooobb 3800
OO0.STboOO,00 4°0000000,00 7000000000000
ggboboboog,obbouogogbbboa,gobbbbuoooobobod

thesis. tex 2023/03/23(00 O)
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O00.0000000D0000D00O00 NSO, NSee20OOoOoOoDOoOo,0bo00O
O0O0obOO0o00o0obOoboobobO,0b00o0ob0oboobboOob. NSos OO, STDo,
NSO1, NSo2 OO OO,0000000D000D0O00DO,OD00D000D0O0ODO
O0000000000000D0. NSo4, NSo> 00, b0bobobobonon
gobbuoodg,bogoboodgbbooobbbo.oobbuooobboo
gboooooboooobuobo 3roobo,gge-r0kmdboonbonoon
gbooooboobogo. 32500000000, 0000000000000
gogoboob,buogogoooobo. obbobbooooooboobog,d
gobbuoogbooobbbda. oob,o0obboooobbuooobboo
gogobbobbodg,ggobboobod,gggobobood. bobodd
gboboobobooboboobobbooboboobo,oobobon
ggooboogd.

STDO (0.1 K/km) NSO1 (=0.1 K/km) NS02 (-0.5 K/km)

Height Ckm]
Height [km]

= i

Height Ckm]
Height [km]

I
I
I
|
1
h=p
|
1
|
1

038 000000000000D0D0O0O0O0O0OD (D)DoooOoOooDOoOOO
00000000 (000). 000000 "m/s0,00000 10000.

3.3.3 U

323000000d0b,0bogbboobuogbboobouoobo,boon
gogbobobobbbtbodudgodoo,goooooobobbobbbbouoooann.
gob,dgdgobobboogobbbuooobbobuoooobb,ogbbobod
gobbuodob.boogbbbooobbuooob,ooobbuooobbod
O0000000oooo0. 00, -1.5K/km 00 (NS04, NS05) OO, 000
gobbuooobbuoo.gbb,gbbbuooobbuooobbuooobboo
OO0O0. NS4, NSob DO OoDbobOobO,bobobobobobobobobo

thesis. tex 2023/03/23(00 O)
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gobbboodg,bboooobbba,obboooobbooodgbbbod
gd. ggo,gobbboobbotddoouooooooboboodgg. gg,d
ruogbo,obboobooboboobobooboo,bbooboobbo
gobobuoogobobo,bbbogobbuooobbooob.booobobood
ooooo00 -15K/km 000000, -10K/km D00 O0000O0O0O0OOO
gogobobbuogo. bbodogoo,bbobbboooa,obbobodad
0000 -05K/kmO0000000, -1.0K/kmOO —20K/km 00,000
ggooboogd.

thesis. tex 2023/03/23(00 O)
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40 U0 22 UO00ogddood
Juoootd

4.1 UO0O0O0OO0OO0OOOO

00 200,000000000 05K/km (00 10 STDO) 00 4.0 K/km
0000000 (STD1) 0000. 000,0000000000000000
00 10000000000000000000000000000.000,0
00000000 (5560 km) 0000, 045km 00000000, 00000
00000000000000,041000000000.00 100000,
00000000000,00000000000000000000 (4.1). O
00000,000000000000000000,00000 STDO O STD1
00000000.000,000000000000000000000000

04100 20000000000000000000

STD1 | NS11 | NS12 | NS13 | NS14

NS15

00000000000000 [K/km] 0.1 -0.1| =05 | —-1.0 | —-1.5

—2.0

thesis. tex 2023/03/23(00 O)
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Height [km]

40 |

30

20

10 |

0.1 K/km

-0.1 K/lkm
-0.5 Kilkm
-1.0 K/lkm
-1.5 K/lkm
-2.0 K/km

-2

-1

0

1 2 3 4 5 6
Static stability [K/km]

7

8

041: 00 200000000000000 (DO0ODODODODOODOOOOOOO
000000). 0000000000000 o0oooooooooooon.

thesis.tex

2023/03/23(00 0O)
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4.2 00O : 00000000000

obobooobobobooooobgooo,STboO SThronoOooOoO, oo
go.

4.2.1 0O00O0OOOOOOO

0420 STboO SThiOoOOoOOOoOODOOoOOObOOOobDOoooOobooOon
ooooo.oOo,00 03 kmd000OoooOoO,STboOO0OOOOOOOO
000ooDoo000 (05 K/km)D0O00O0OODODODO,STDIOO,O0 10-35km O
000000000000 4O0K/km) OOOOOOODOOO, OO0 0-10 km O
goobobobobobobo.bo,0boboboooooooobooba,
STbO 0000 4km 00 0 29K/km (0 00000000O00O),STD1 00O
O040km 000 54 K/km (0000OD0O0OOOOO)000O0O0O0O0OO0OOO,O
000000000 40K/km)DOOOOOOOOOO,STDIOOOOOOODO
oobooobooooobooo.oo,0oobboobooobboobog sSTbooDO
00000 (000000000000 00000 01 K/kmOOO).

Static stability [K/km]

Height [km]
s

- S0
_— s1

0 : S S S S T
Stability [K/km]

0420 32000.000,000000000.

0430 STDhoO STD1O0O000O0O0OOO0O0OO0O0OO0OO0DO0OO0OOOOOn
O0. STbooOoOoOoOoOOoOoOOoOOD 10K/kmOODODOODOODODOODODOOO
000000000. 00 STh1 00000000000 10K/kmOOOOO
O,0000000000000D0. 000b0ob 420000,8TD1 O STDO

thesis. tex 2023/03/23(00 O)
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goodgoobbbbbbobbbbbootboddgoooooodo. ououggo
gbooobooooboobobooboo,ob0bo0o 42b000,00 58 km
gobbbuodgbbbooogbbbuooobbbogod.

STDO STD1

Height [km]
3

Height [km]
a

g

-80 -60 -40 -20 4] 20 -80 -60 -40 -20 0 20 40

Latitude [deg] Latitude [deg]
CONTOUR INTERVAL = 1.000E+00 CONTOUR INTERVAL = 1.000E+00

0430 33000.

4.2.2 000000000

0 440,8TDo0O STh1O0DOOO0OO0O0OO0OOOOOOODOOODOODOODO
oopD.STbiodbD e0kmO0000O00ODOOODOOO,STDOODOOODOO
obo,000000000000. 00,0060km 0000000, 00000
gboboboboboboooooobob,bobobobobobooon

O00. 00,00 300000000 4m/sO000000000 80kmOOO
ooooogo STbioogoo 1o0obo.

STDO (0.1 K/km) STD1 (0.1 K/km)

Height [km]
g & 8

Latitude [deg] Latitude [deg]
CONTOUR INTERVAL = 7.000E+00 CONTOUR INTERVAL = 7.000E+00

U 44:.0 34000.

thesis. tex 2023/03/23(00 O)
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4.2.3 00

0 450,STbo0 STD1 OOOO0DOCOOOODOOOOODOO. STb1OOO
goooog,bogbooboobobobo,bogbuoobobbooboobon
O,STbo0oooooooobD. 0bobooooboooooooooooooboobooo
g,goboboboobbooboobuoobgn.

STDO (0.1 K/km) STD1 (0.1 K/km)

=]
(2

9.6e-9

3
3

7.2e-9
4.8e-9
2.4e-9

Height [km]
a

8
Height [km]
a

8

-2.4e-9

—4.8e-9

s
[

- E Vi———

s
[

—7.2e— L —— -7.2e—
7.2e-9 i-){: 7.26-9
© —9.6e-9 w0 —— -;;:-_ -9.6e—9
-80 -60 -40 —-20
Latitude [deg] Latitude [deg]
CONTOUR INTERVAL = 4.000E+00 CONTOUR INTERVAL = 4.000E+00

0 45: 0 35000.

4.24 0000

O460,85TDo0O STh1OO0O0OOOOOOOOOOOOOOOOOOOOO.
STD1 000 SThoOOooooooboooooooooobob. ogo, STDo
OooooboooooooooooobooooobooboooooDoo,sSTb1 00O

oo0o,0be60kmd0000O00oobOO0bDObODODODODbDObDOnO
goo.

thesis. tex 2023/03/23(00 O)
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STDO (0.1 K/km) STD1 (0.1 K/km)
o | O 2 G -SRTSRER ]

‘\\\\\\\\\\\ 9 . - AN 4.86-5 b i © SIS © 0 @ o o o o . 4.80-5
-E 1\\\\\\\\\\\\\ 3.6e=5 -E- ...................... 3.6e=5
A R I vaas  Z b C0Tm.T LS 2405
4-:455 -I‘T\\\\\ ............. ] 1208 Es"’_ 9 ) ) ] 1208

£ b DT AN s e ; £ - - .

] 0 ] e L I o
AR e =12e-5 0 - B .. ... Ll -1.2e-5
P SR UG O Mo O 0 00 o o TR ] —2.4e-5 5. e E —24e-5
" SN =36e=5 L. <+ —3.6e—5
0L L . . ] 5 —4.8e—5 WOF | , \ e S —4.8e—5

—-80 —-60 —40 -20 S50 —80 —60 —40 -20 S50
Latitude [deg] Latitude [deg]

046:0 36000.

4.2,5 0O0O0OOOO

O470,STDo0O STD1OOOOOOOOOOOODOOOOODOOOO. STDO
0000000 60km OO0O00O0OD0OODOOOOOO,STDIOODOOOOOO
gogoggoobbbbbbbobbboood. bbobobobbbboodooagoo
ooooog,STbl1o0oo0oo0ob0bobooooOo,0b0oboobooboboo

ooooo.ooooo,SThigooodoooooooboo0ooooooobooboOoo
gogoobodggd.

STDO (0.1 K/km) STD1 (0.1 K/km)
i o
i 76
72 I 72 I
68 I 900 68 I 900
é 64 I 600 é 64 : 600
£ o0f w g eof 0
| |
270 o 270 o
sz sz
I =300 I -300
45 48l
I —600 I —600
44 I 44 I
ol », -900 wl -900
-9 -30 o] 30 0 -9 =30 o] 30 0
Latitude [deg] Latitude [deg]
CONTOUR INTERVAL = 1.000E+02 CONTOUR INTERVAL = 1.000E+02

0470 37000.

thesis. tex 2023/03/23(00 O)



gbooogao 040 00O 2. 00000O0O0O0OOOOOO0OO0 27

4.2.6 0O0O0OO0OO

42100000000,000000000000000,0000000000
gbogbgbobobbo.ooooooooooooooooooooooon
OoobooO0oO0. 0480 SThboO STh1OoOooOOoOOoOoOOoOoOoOoOOoOoDOOO
ooooooboooogooo.o4200,00 60km OO0 STDO O STD1 O
OoooOobooooooDboobD. oo 60 km ODOOODOOOO, STDO O
oboobOo,00b0ob STbooooboobobuobobooooooooooo
goooo.

QSOL

Height [km]
& 8 8

5

8
T

—— S0 |
—— ST

-
o
T

0

P S T R ST TR SR SR SN R
0 4 8 12 16 20 24 28 32 36 40 44

(x107%)
Venus solar heating

048 00000000,000000000000000.000000 [K/s].
gbooob 1oboob.goboobobobo.

0490 SThboO SThiOoOOoOOOoOODOOoOOOobOOoOobDOooooboogn
0. 33200000,000000000000000D0O00DO0O0DODDOOO
goo.

O00,00000 (0 45)00,00000000040K/kmO0000O0OC0O0O,
0000000000000 0000000000. 0000000 (O 4.6) 0
000,0000000C0040K/km00000CO,00000D00COOO
OO00o0ooooo.STb1o0O0,0000000o STbooboooooboooDo
gobbo,ggobbboooobbobuoodobbboodgb,buoogbbbod
gogobobb,dgogooobooboboooooobobooboboooo. bog,d
00000000 40K/km 0000000, 0000000O0O0OCOOODOO
gbobodbog,bodbooobuoobboobobooboonoboobobo
gogbboobuoooobood.

thesis. tex 2023/03/23(00 O)
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STDO (0.1 K/km) STD1 (0.1 K/km)

Lat [deg] Lat [deg]

CONTOUR INTERVAL = 7.000E+00 CONTOUR INTERVAL = 7.000E+00

049 0 38000.

4.3 U0 : O000O00ooooobooobd

gogobboobobodoooooobbobbodooooobbooboogd
O0,STD10O NS11-NS1hOOOQOooOo,0o000.

4.3.1 O0O0O0OOOOOOO

00 20000000000000 410000.0000000000000
0000000000,000000 01K/kmOO —1.0K/km 0000000
0,00000000006K/kmO000000,00000000000000
00.00,-15K/km, —20K/km000000,0000000000000,
0.3K/km, 02K/km 00000000,00 1000 (032)00000000
00.000,0000000000000,000000000000,0000
00000,00000000000000000000000000000.0
00000000000000,0000000000000000000000
0oo0o0o0o0oooo.

gbo,00 200000000000000000000O00O00O00O 41100
go.go011gooo,boboobboboobooboo,oobuooboon
gboggbgoboobgoobob. o0 200,00b0000,00000000
googooobooboobboboboo. gobuo0o 1oboobboobon
O00.000,NS13-NS150 NS03-NSos Oooo,00noooooooon
O00o0OoobD. 0bobo0ob00o0oooooooboO0obOobO NSo3 -NSos OO
O NS13-NS1h Oooooooooooo.

thesis. tex 2023/03/23(00 O)
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Height [km]

-80 -60

Height [km]

STD1

Height [km]

Static stability [K/km]

3
Stability [K/km]

0 4.10: 0 3.2000.

NS11 (0.1 K/km)

40 -20
Latitude [deg]

CONTOUR INTERVAL = 1.000E+00

NS13 (=1.0 K/km)

-20 0 20
Latitude [deg]

CONTOUR INTERVAL = 1.000E+00

[
2
£
o

]
T

Height [km]

o
Latitude [deg]

CONTOUR INTERVAL = 1.000E+00

NS14 (=1.5 K/km)

Height [km]
Height [km1

-0 0 20
Latitude [deg]

CONTOUR INTERVAL = 1.000E+00

0 4.11: 0 3.3000.

NS12 (-0.5 K/km)

Latitude [deg)

CONTOUR INTERVAL = 1.000E+00

NS15 (—2.0 K/km)

-20 0 20
Latitude [deg]

CONTOUR INTERVAL = 1.000E+00

thesis.tex
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4.3.2 000000000

gb2000000,0000000000000D0O0 412000.00 10
00 (034 000000,0000000000000COOO000DO00gog
goo. bog,booboboobbooboobooboo,boobobobbon
goo1l1bogboo,0boobooboob,obboobboobboobon.
OO00,NS120000000000000 STboOOOOOOOOO,NS110
OO00oO0.NS»hhooooooobobobobooo,bobobob 10 NSO O
gooobogoo.

STD1 (0.1 K/km) NS11 (=0.1 K/km) NS12 (-0.5 K/km)

Height [km]
Height [km]
Height [km]

E R 30 E 30
Latitude [deg] Lotitude [deg]
CONTOUR INTERVAL = 7.000E:+00 CONTOUR INTERVAL = 7.000E:+00

NS14 (-1.5 K/km) NS15 (-2.0 K/km)

Height [km]
Height [km]
Height [km]

0 4.12: 0 34000.

4.3.3 00O

0413000 20000000000000.000000000O00O0ODO
gogbbobuooooboboooo,bb10000nboo.

thesis. tex 2023/03/23(00 O)
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STD1 (0.1 K/km)

Height [km]

CONTOUR INTERVAL = 4.000E+00

NS13 (=1.0 K/km)

Height [km]

—60
Latitude [deg]

CONTOUR INTERVAL = 4.000E+00

9.6e-9
7.2e-9
4.8e-9
24e-9

~2.4e-9
—4.8e—9
~7.2e-9
—9.6e—9

9.6e-9
7.2e-9
4.8e-9
2.4e-9

=2.4e-9
—4.8e—9
~7.2e-9
~9.6e—9

Height [km]

Height [km]

NS11 (=0.1 K/km)

CONTOUR INTERVAL = 4.000E+00

NS14 (—1.5 K/km)

Latitude [deg]

CONTOUR INTERVAL = 4.000E+00

9.6e-9
7.2e-9
4.8e-9
24e-9

~2.4e-9
—4.8e-9
-7.2e-9
—9.6e-9

9.6e-9
7.2e-9
4.8e-9
2.4e-9

=2.4e-9
—4.8e-9
-7.2e-9
~9.6e-9

0 4.13: 0 35000.

Height [km]

Height [km]

NS12 (-0.5 K/km)

60
Latitude [deg]
CONTOUR INTERVAL = 4.000E+00

NS15 (=2.0 K/km)

Latitude [deg]

CONTOUR INTERVAL = 4.000E+00

9.6e—9
7.2¢-9
4.8e—9
2409

—2.4e-9
—4.8¢-9
~7.2e-9
—9.6e-9

9.6e—9
7.2¢-9
4.8e—9
2.4e-9

=2.4e-9
—4.8e-9
~7.2e-9
-9.6e-9

thesis.tex
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4.3.4 0000

gb 200000000000000000 414000. 000000000
O00o00oo0ooooog,bobo0ob0booboobo. NS1L,NS12000000
OO0 566 km 000000000 68km OODO0OOO0OO0OO0OOODOODOODOO
oo0,NSB3O0o00boobooooooboooooobooD 40°c000obDOo.
ooO0o,NSB3o0b0o0goooobooooooooboboooo.oooob,bo0oo
gogobobbobobobbbododag,buooooooboboobobboodogooag.
000,00000000000 10000000000. OO, NS14,NS150
O,0000ob0oooooobo0obobobobobooobooboono, oD NS14
0000 10 STDO, NSOL-NSo3 OOooOooobOoboooooooooo
ggbobuooobbbodood.obbou 1gbbobooooobobogo.
NS15 000000000000 50-65km OO0OO00OO0ODOODO,000000
00000000 —20K/EmO00 NSOSOODOOOOOOOOOOOOOOO
goooo.

STD1 (0.1 K/km) NS11 (=0.1 K/km) NS12 (=0.5 K/km)

e8f. ..o .

777777

—60 —40 -20 -80 —60 —40 -20 —60 —40 -20
Latitude [deg] Latitude [deg] Latitude [deg]

NS13 (=1.0 K/km) NS14 (=1.5 K/km) NS15 (2.0 K/km)

PR ST CETNN
Sl S N CC SO RN N &
\\\\ AV A ey
L SRR AR S RERE R ARRRNRS
EEEERER LR L R R KK EREN]
SSEorrtreetititantte. .1
D R T N O S

E = = = = = T
Latitude [deg] Latitude [deg] Latitude [deg]

0 4.14: 0 3.6000.

4.3.5 0O0OO0OOOOO

gb200000000000000000Db0D 415000000000
goodgoobobobbbobobbbooodoooadg. obbboboooooood
oo, oooooooboobb,bbbbb 1o0000gogoaag.
gb1g0obooggbbodobbuogb.buogboboooboobo,obod

thesis. tex 2023/03/23(00 O)
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gobbuooobbuo.gb,ogobbbuooobbuoobbooobboo
goggoboboo,bbbbboddgoooobbbobbbbouooooonn.
NS13-NS1, 000000000 Oo00oo0oooooobo0o 200000000
gooo.

STD1 (0.1 K/km) NS11 (=0.1 K/km) NS12 (-0.5 K/km)

Height [km]
Height [km]

Height [km]
‘,0835358223;5
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0.000,00000000000000000000O (05K/km)0O00OO,
gboobobobobobobooooo,gbobobobobobobooon
gogb.ooogo,bbobouoooobboboo,oooobboobodad
gboboobogoobgn.
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Height [km]
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4.4.3 0O0OOOO

gbbogboobbodgbooobuoobboob,gbooobuoobobo
gobboodg,0bbboooobbboodgbbbog,bbbouodgbbbod
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gobooboboobbdg,00 200b000b0o0bo0o0oobboooboon
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~
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3 g 2
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Q
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CONTOUR INTERVAL = 2.000E+00
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—-80 —60 —40 -20 0
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2.4e-9

—2.4e-9
—4.8¢e-9
—7.2¢e-9
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30 60
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0 —60 -30 ) o
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CONTOUR INTERVAL = 1.000E+02 CONTOUR INTERVAL = 1.000E+02
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gbo,00b00booboobobob. 0obooboo,0ob 1200000000
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gbooboboboboboooooob,bobobobobobobooon

gbogoogon.
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gbobobgobooobo 1bo0oboob,boboooobobo.bobo
gobobuooobbog,bbogobbooobbooobbooo.bboo
go,0boboobooboobobbobooboob,bboboobon
go,bogoobobboooobbboodg,buogoobobooogobbboo
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1.2e-7
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0
—90 —60 =30
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CONTOUR INTERVAL = 7.000E+00
TE15 (15 km)

Height [km]

60

1.8e-7
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6e-8
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—1.8e-7

3 30b00b0bOob,bobobobobobubobo,boooooboboon
gbodgboobb,obboobboobuodgboudo. gb,ooboobbod
gbooboboboboboooooobobobobobobobo,uooon
gbobgbdobobobdobodoboboobobobobogb. ooooood

thesis.tex

2023/03/23(00 0O)



gbooogao gsb 00 3: 00dbbbuogobbodd 44

ooo,00ec0b0dbo0OoOo,b00b0bbOob0b0 200kmO0b00O,0000O
ggb 40 bogggboboooobooobogd.

thesis. tex 2023/03/23(00 O)



gbooogao gell OO 45

el UU

O0000,00000000D000DOO00DOODOOODOODbDOO AFES-
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(c) NS02

NSO5 (-2.0 K/km)

Latitude [deg]
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